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Adding with zero digits up to 200 #6

146 + 0 = 21) 190 + 66 =
0+7= 22) 4+ 188 =
80 4+ 197 = 23) 69+ 120 =
180 + 105 = 24) 9+ 144 =
160 + 156 = 25) 100+ 85 =
24104 = 26) 110+ 179 =
3+50 = 27) 24410 =
167 +2 = 28) 40+ 131 =
162 4+ 90 = 29) 4+ 110 =
90 + 150 = 30) 224120 =
9+ 155 = 31) 79+ 180 =
97 4+ 120 = 32) 35+ 150 =
170 4+ 133 = 33) 48+ 190 =
44165 = 34) 2+ 171 =
95+ 6 = 35) T4+2=
1347 = 36) 152+ 1 =
24 + 110 = 37) 2244 =
114+ 0 = 38) 1942 =
120+ 7 = 39) 1+49 =
115+ 120 = 40) 0+5 =
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Adding with zero digits up to 200 #6 (Solutions)

146 + 0 = 146
0+7=T7
80 4197 = 277

180 4 105 = 285
160 4 156 = 316

2+104 =106
3+50 =153
167 +2 =169
162 490 = 252
90 4 150 = 240
9+ 155 =164
97 + 120 = 217
170 + 133 = 303
44165 = 169
9546 = 101
13+7=20
244110 =134
1144+0=114
120+ 7 =127

115+ 120 = 235
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190 + 66 = 256
44 188 = 192
69 + 120 = 189
9+ 144 =153
100 4 85 = 185
110 + 179 = 289
24410 =34
404131 =171
44110 =114
22 4+ 120 = 142
79 + 180 = 259
35 + 150 = 185
48 + 190 = 238
2+171 =173
44+2="76
1524 1= 153
22+4 =26
19+2=21
1449 =50
O+5=35



